ADJASBA Seat Frame, Seat Pan and Hardware
TRRO Option - Introduced 10/27/04

Back Cane Bracket for TRRO
option is a hon-serviceable part.

Call Technical Services for assistance
(1-800-832-4707). -




ADJASBA Seat Frame, Seat Pan and Hardware

TRRO Option - Introduced 10/27/04

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1126144 Pan, Seat, with Hook and Loop Fasteners (12 - 16" 1 1
W x 12 - 18" D)
2 1024793-NLA | NLA - Screw, Hex Head (1/4-20 x 1-3/4") 1 4
3 1008495 Screw, Socket Button Head (1/4-20 x 1-1/2") 1 3
4 1122652 Screw, Hex Head w/ Patch (5/16-18 x 5/8") 1 10
5 1025704 Washer, Flat (5/16 x 5/8 x 1/16") 1 10
6 1122619 Socket, Arm, Front - Right 1 1
6 1122620 Socket, Arm, Front - Left 1 1
7 1126127-NLA | NLA - Rail, Side (12 - 18" D) 1 2
8 1121982-NLA | NLA - Frame, Center Seat, Black 1 1
9 1025736 Locknut (1/4-20) 1 7
10 1026099 Spacer, Coved (1/4 x 11/16 x 1/2") 1 4
11 1045267 Screw, Hex Head w/ Patch (1/4-20 x 3/4") 1 8
12 1029501 Plug Button, Black (1") 1 2
13 1126126-NLA | NLA - Crossbar, Seat Frame (12 - 16" W) 1 4
14 1026907 Washer (1/4 x 1/2 x 1/16") 1 6
15 1068039 Pin, Pull 1 2
16 1126142 Socket, Arm, Rear 1 2
17 1069724 T-Nut (5/16-18) 1 10
18 1039949-NLA | NLA - Fastener, Hook Adhesive Back (2" W x 16" L) 1 4
18 1044578-NLA | NLA - Fastener, Loop Adhesive Back (2" W x 16" L) 1 4

NOTE: A -Includes item 18




